
SAP ABAP table CC1ERP {Incorrect Time Events from CC1, Postings}

CC1ERP

MANDT [CLNT (3)]

TEVOR [CHAR (20)]

PDSNR [NUMC (12)]

SRCSYS [CHAR (10)]

AUFNR [CHAR (12)]

WERKS [CHAR (4)]

BUKRS [CHAR (4)]

KOSTL [CHAR (10)]

MEINH [UNIT (3)]

VGE01 [UNIT (3)]

SOE01 [UNIT (3)]

RUE01 [UNIT (3)]

VGE02 [UNIT (3)]

SOE02 [UNIT (3)]

RUE02 [UNIT (3)]

VGE03 [UNIT (3)]

SOE03 [UNIT (3)]

RUE03 [UNIT (3)]

VGE04 [UNIT (3)]

SOE04 [UNIT (3)]

RUE04 [UNIT (3)]

VGE05 [UNIT (3)]

SOE05 [UNIT (3)]

RUE05 [UNIT (3)]

VGE06 [UNIT (3)]

SOE06 [UNIT (3)]

RUE06 [UNIT (3)]

KSTRG [CHAR (12)]

NPLNR [CHAR (12)]

KDAUF [CHAR (10)]

DART [CHAR (2)]

UDART [CHAR (2)]

PRAKN [CHAR (2)]

WAERS [CUKY (5)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 CC1ERP-NPLNR = AUFK-AUFNR 
0..N

0..N

CC1ERH

MANDT [CLNT (3)]

TEVOR [CHAR (20)]

 CC1ERP-TEVOR = CC1ERH-TEVOR 
1..N

1

CKPH

MANDT [CLNT (3)]

KSTRG [CHAR (12)]

DATBI [DATS (8)]

 CC1ERP-KSTRG = CKPH-KSTRG 

0..N

0..N

T000

MANDT [CLNT (3)]

 CC1ERP-MANDT = T000-MANDT 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 CC1ERP-MEINH = T006-MSEHI 

0..N

0..N
 CC1ERP-RUE01 = T006-MSEHI 

0..N

0..N
 CC1ERP-RUE02 = T006-MSEHI 

0..N

0..N
 CC1ERP-RUE03 = T006-MSEHI 

0..N

0..N  CC1ERP-RUE04 = T006-MSEHI 

0..N

0..N
 CC1ERP-RUE05 = T006-MSEHI 

0..N

0..N  CC1ERP-RUE06 = T006-MSEHI 

0..N

0..N  CC1ERP-SOE01 = T006-MSEHI 

0..N0..N
 CC1ERP-SOE02 = T006-MSEHI 

0..N0..N  CC1ERP-SOE03 = T006-MSEHI 
0..N

0..N  CC1ERP-SOE04 = T006-MSEHI 0..N

0..N
 CC1ERP-SOE05 = T006-MSEHI 

0..N

0..N

 CC1ERP-SOE06 = T006-MSEHI 

0..N

0..N

 CC1ERP-VGE01 = T006-MSEHI 

0..N

0..N

 CC1ERP-VGE02 = T006-MSEHI 

0..N

0..N

 CC1ERP-VGE03 = T006-MSEHI 

0..N

0..N

 CC1ERP-VGE04 = T006-MSEHI 

0..N

0..N

 CC1ERP-VGE05 = T006-MSEHI 

0..N

0..N

 CC1ERP-VGE06 = T006-MSEHI 

0..N

0..N

T510P

MANDT [CLNT (3)]

MODIF [NUMC (2)]

PRAKN [CHAR (2)]

PRAKZ [NUMC (4)]

ENDDA [DATS (8)]

 CC1ERP-PRAKN = T510P-PRAKN 

0..N

0..N T5D7C

MANDT [CLNT (3)]

DAKAT [CHAR (2)]

DART [CHAR (2)]

ENDDA [DATS (8)]
 CC1ERP-DART = T5D7C-DART 0..N

0..N

T5D7E

MANDT [CLNT (3)]

DAKAT [CHAR (2)]

DART [CHAR (2)]

UDART [CHAR (2)]

ENDDA [DATS (8)]

 CC1ERP-UDART = T5D7E-UDART 

0..N

0..N

TBDLS

LOGSYS [CHAR (10)]

 CC1ERP-SRCSYS = TBDLS-LOGSYS 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CC1ERP-WAERS = TCURC-WAERS 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 CC1ERP-KDAUF = VBUK-VBELN 

0..N

0..N


